
To express 'wear' you must distinguish between (1) wearing on a specific occasion and (2) wearing habitually:

(1a) быть в + Prepositional

 

Вчера в театре она была в красном платье.

Yesterday at the theater she was wearing a red dress.

(1b) быть без + Genitive

 

Вчера в театре она была без туфель.

Yesterday at the theater she was not wearing shoes (was barefoot).

 

(2a) ходить в + Prepositional

 

Она всегда ходит в длинных платьях.

She always wears long dresses.

(2b) ходить без + Genitive

 

Он всегда ходит без шапки.

He never wears hats.

 

(2c) носить + Accusative (synonymous with 2a, above)

 

Она всегда носит длинные платья.

She always wears long dresses.

(2d) не носить + Accusative (synonymous with 2b, above)

 

Он не носит шапку.

He never wears hats.

